SWIDLER BERLIN SHEREFF FRIEDMAN, LLP

THE WASHINGTON HARBOUR
3000 K STREET, NW, SUITE 300
WASHINGTON, DC 20007-5116
TELEPHONE (202) 424-7500
FACSIMILE
WWW.SWIDLAW.COM

NEW YORK OFFICE THE CHRYSLER BUILDING 405 LEXINGTON AVENUE NEW YORK, NY 10174 Tel. (212) 973-0111 FAX (212) 891-9598

January 5, 2004

The Honorable Magalie R. Salas Secretary Federal Energy Regulatory Commission 888 First Street, N.E. Washington, D.C. 20426

> Re: California Independent System Operator Corporation Docket No. ER04- __- 000

Transmission Access Charge Informational Filing - Errata

Dear Secretary Salas:

Iulia Moore

FAX: (202) 424-7643 JULIAMOORE@SWIDLAW.COM

DIRECT DIAL: (202) 295-8357

On December 31, 2003, the California Independent System Operator Corporation ("ISO") made an informational filing to provide notice regarding the updated transmission Access Charges that reflect a revision in its transmission Access Charge rates to account for the changes to the rates of Pacific Gas and Electric Company ("PG&E"), specifically, those resulting from the Transmission Owner Tariff proceeding in Docket No. ER04-109-000, and to revise the Transmission Revenue Balancing Accounts ("TRBAs") of the current Participating Transmission Owners.

It has come to the ISO's attention that the worksheets included with the December 31 filing as Attachment A contained errors. The rates provided in the transmittal letter, however, were correct.

The ISO is making this errata filing to replace the erroneous worksheets from Attachment A of the December 31 filing with corrected worksheets. No

See Pacific Gas and Electric Company, 105 FERC ¶ 61,389 (2003). This order accepted PG&E's filing of a revised Transmission Owner Tariff, suspended the filing, and made it effective January 1, 2004.

The Honorable Magalie R. Salas January 5, 2004 Page 2

other changes are being made to the December 31 filing. We apologize for any inconvenience this may have caused.

The ISO has served copies of this transmittal letter and all attachments hereto on the Public Utilities Commission of the State of California, the California Energy Commission, the California Electricity Oversight Board, the Participating Transmission Owners, and on all parties with effective Scheduling Coordinator Service Agreements under the ISO Tariff. In addition, the ISO is posting this transmittal letter and all attachments on the ISO Home Page.

Two additional copies of this filing are enclosed to be date-stamped and returned to our messenger. If there are any questions concerning this filing, please contact the undersigned.

Respectfully submitted,

Charles F. Robinson
General Counsel
Anthony J. Ivancovich
Senior Regulatory Counsel
The California Independent System
Operator Corporation
151 Blue Ravine Road
Folsom, CA 95630

David B. Rubin Julia Moore Swidler Berlin Shereff Friedman, LLP 3000 K Street, NW Suite 300 Washington, DC 20007

Attorneys for the California Independent System Operator Corporation

ATTACHMENT A

January 1, 2004 TAC Rate Based on Filed Annual TRR/TRBA and Load Data

TAC Comp	one	nts:	 			 	_		 			
		Filed Annual TRR Existing HV Facilities (\$)	Filed Annual TRR New HV Facilities (\$)	Filed Annual Gross Load (MWh)	TAC Area	Total Filed TRR (\$)		EHVF only Utility Specific Rate (\$/MWH)	EHVF only TAC Area Rate (\$/MWH)		HV Utility Specific Rate (\$/MWH)	TAC Area Rate (\$/MWH)
		[1]	[2]	[3]	[4]	[5]		[6]	[7]		[8]	[9]
	E @	1Jan04				 = [1] + [2]		= [1] / [3]	= [21]		= [5] / [3]	= [19]
PG&E	\$	146,199,679	\$ 45,188,967	83,389,232	N	\$ 191,388,646	\$	1.7532	\$ 1.8940	\$	2.2951	\$ 2.2191
SCE	\$	173,100,226	\$ 7,193,729	84,358,000	EC	\$ 180,293,955	\$	2.0520	\$ 2.3332	\$	2.1372	\$ 2.6583
SDG&E	\$	35,851,531	\$ 10,423,518	19,404,874	S	\$ 46,275,049	\$	1.8476	\$ 1.9506	\$	2.3847	\$ 2.2757
Anaheim	\$	22,137,921	\$ -	2,589,830	EC	\$ 22,137,921	\$	8.5480	\$ 2.3332	\$	8.5480	\$ 2.6583
Azusa	\$	1,392,585	\$ -	239,575	EC	\$ 1,392,585	\$	5.8127	\$ 2.3332	\$	5.8127	\$ 2.6583
Banning	\$	977,914	\$ -	139,457	EC	\$ 977,914		7.0123	2.3332		7.0123	\$ 2.6583
Riverside	\$	16,941,060	\$ -	1,814,019	EC	\$ 16,941,060	\$	9.3390	\$ 2.3332	S	9.3390	\$ 2,6583
/ernon	\$	9,990,364	\$ -	1,210,668	EC	\$ 9,990,364		8.2519	2.3332		8.2519	\$ 2.6583
ISO Total	\$	406,591,280	\$ 62,806,214	193,145,655		\$ 469,397,494						

STEP 1: Calculate the Access Charge Rate for each TAC Area.

TAC-Area portion is the percent of Total TRR in each area which has not yet transitioned to the ISO (60%) divided by the Total Load of each area.

The ISO portion is the percent of all TRR which has transitioned to ISO-Wide (40%), plus the TRR of New HV Facilities, divided by total load.

ISO-wide	\$ 162,636,512	\$	62,806,214	193,145,655	\$ 1.1672	0.8420	
	 [14] otal ([10]) x 40%		[15] = Total [2]	[16] = Total [3]	[17] = ([14] + [15]) / [16]	[18] =[14]/[16]	
	SO Wide TRR Existing HV Facilities (\$)		60 Wide TRR New HV Facilities (\$)	ISO Wide Annual Gross Load (GWH)	ISO Wide Rate (\$/MWH)	EHVF only ISO-Wide Rate (\$/MWH)	
North East/C South Total	Annual TRR Existing HV Facilities (\$) [10] = [1] 146,199,679 224,540,070 35,851,531 406,591,280	\$ \$ \$	Annual TAC Area TRR (\$) [11] =[10] x 60% 87,719,808 134,724,042 21,510,919 243,954,768	90,351,549	TAC Area Rate (\$/MWH) [13] = [11]/[12] \$ \$ 1.0519 \$ 1.4911 \$		

				Existing riv	- 15	iew nv
	TAC Rate	Wheeling Rate		Facilites	F	acilites
	(TAC Area	(TAC Area	(EI	HVF) only TAC	(NF	IVF) only
	+ ISO Wide)	+ ISO Wide)		Rate	T	AC Rate
	(\$/MWH)	(\$/MWH)		(\$/MWH)	(\$	MWH)
	[19]	[20]		[21]		[22]
	= [13] + [17]	= [19]		= [13] + [18]	= ,	[15] / [16]
North	\$ 2.2191	\$ 2.2191	\$	1.8940	\$	0.3252
East/Central	\$ 2.6583	\$ 2.6583	\$	2.3332	\$	0.3252
South	\$ 2.2757	\$ 2.2757	\$	1.9506	\$	0.3252

January 1, 2004 TAC Rate Based on Filed Annual TRR/TRBA and Load Data

STEP 2: Calculate the HV Access Charge the UDC/MSS pays on Filed Gross Load and Benefit/Burden. Note: ISO total for (Benefit)/Burden may not equal zero due to rounding of TAC Rate.

	TAC Area [22] = [4]	Filed Gross Load (MWH) [23] = [3]	EHVF only TAC Rate (\$/MWH) [24] = [7]	ı	Amount Paid Based on Filed Gross Load (\$) [25] = [23] × [24]	EHVF only Itility Specific Rate (\$/MWH) [26] = [6]	W	ould Have Paid // EHVF Utility Specific Rate (\$) [27] = [23] x [26]	EHVF ccess Charge enefit)/Burden (\$) (28) = (25) - (27)
PG&E	N	83,389,232	\$ 1.8940	\$		\$ 1.7532	\$	146,199,679	\$ 11,737,260
SCE	EC	84,358,000	\$ 2.3332	\$	196,819,878	\$ 2.0520	\$	173,100,226	\$ 23,719,652
SDG&E	S	19,404,874	\$ 1.9506	\$	37,850,613	\$ 1.8476	\$	35,851,531	\$ 1,999,082
Anaheim	EC	2,589,830	\$ 2.3332	\$	6,042,462	\$ 8.5480	\$	22,137,921	\$ (16,095,459)
Azusa	EC	239,575	\$ 2.3332	\$	558,964	\$ 5.8127	\$	1,392,585	\$ (833,621)
Banning	EC	139,457	\$ 2.3332	\$	325,374	\$ 7.0123	\$	977,914	\$ (652,539)
Riverside	EC	1,814,019	\$ 2.3332	\$	4,232,379	\$ 9.3390	\$	16,941,060	\$ (12,708,682)
Vernon	EC	1,210,668	\$ 2.3332	\$	2,824,670	\$ 8.2519	\$	9,990,364	\$ (7,165,694)
ISO Total		193,145,655		\$	406,591,280		\$	406,591,280	\$ 0

STEP 3: For Information Only -- Projected annual net benefits/burdens from Access Charge for Existing Facilities.
\$32/32/8 million cap for IOUs; munis are held harmless; IOUs pay muni cost increases in proportion to their cap relative to the total cap.

	EHVF ccess Charge enefit)/Burden (\$) [29] = [28]	IOU Burden Annual Cap (\$) (30)	IC	Amount DUs' Cap Exceeds IOUs' Burden (\$) [31] IF ([30] - [29] > 0) = [30] - [29] If no cap. then 0.	Exc	Amount IOU's Burden ceeds IOU's Cap (\$) [32] IF [29] - [30] > 0 = [29] - [30]. If no cap, then 0.		Payments by Entities with Net Benefit (\$) [33] [JOUS = [(33] / total(32]. Munis w/ Benefit= ([29] / total[29]) x total[32] - total[31]	Mitigation Payments (\$) [34] = [33] - [32]		(В	Adjusted Net enefit) / Burden (\$) [35] = [29] + [34]	10	Reallocation IOU Burden (\$) [36] Reallocate DU Burden [38] so it is proportional to IOU Cap [30] = [38] - [35]	Transition Charge (\$) [37] = [34] + [36]	(Ве	Adjusted Net Penefit) / Burden (\$) [38] = [35] + [36]	Transition Charge Rate (\$/MWh) [39] = [37] / [23]
PG&E	\$ 11,737,260		\$	20,262,740	\$	0	•	\$ 0	\$	0	\$, ,	\$	4,909,849	4,909,849			\$ 0.0589
SCE	\$ 23,719,652	\$ 32,000,000	\$	8,280,348	\$	0	5	\$ 0	\$	0	\$	23,719,652	\$	(7,072,544)	\$ (7,072,544)		16,647,109	\$ (0.0838)
SDG&E	\$ 1,999,082	\$ 8,000,000	\$	6,000,918	\$	0	5	\$ 0	\$	0	\$	1,999,082	\$	2,162,695	\$ 2,162,695	\$	4,161,777	\$ 0.1115
Anaheim	\$ (16,095,459)	\$ (\$	0	\$	0	5	\$ 0	\$	0	\$	(16,095,459)	\$	0	\$ 0	\$	(16,095,459)	\$ 0
Azusa	\$ (833,621)	\$ (\$	0	\$	0	5	\$ 0	\$	0	\$	(833,621)	\$	0	\$ 0	S	(833,621)	\$ 0
Banning	\$ (652,539)	\$	\$	0	\$	0	5	\$ 0	\$	0	\$	(652,539)	\$	0	\$ 0	\$	(652,539)	\$ 0
Riverside	\$ (12,708,682)	\$	\$	0	\$	0	5	\$ 0	\$	0	\$	(12,708,682)	\$	0	\$ 0	\$	(12,708,682)	\$ 0
Vernon	\$ (7,165,694)	\$ (\$	0	\$	0	5	\$ 0	\$	0	\$	(7,165,694)	\$	0	\$ 0	\$	(7,165,694)	\$ 0
Total	\$ 0	\$ 72,000,000	\$	34,544,006	\$	0	,	\$ 0	\$	0	\$	0	\$	0	\$ 0	\$	0	

STEP 4: For Information Only -- Projected annual net benefits/burdens from Access Charge for New Facilities and Total projected annual net benefits/burdens from Access Charge.

	ed Annual TRR New HV Facilities (\$)	ISO Wide Annual Gross Load (MWh)	New HVTRR Rate (\$/MWH)		New HVTRR Cost Responsibility (\$)	NHVF ccess Charge lenefit)/Burden (\$)		Total ccess Charge enefit)/Burden (\$)
	[40]	[41]	[42]		[43]	[44]		[45]
	= [2]	= [3]	= ([15]) / [16]		= ([42]) * [43]	 = ([42]) - [40]		= ([44]) + [38]
PG&E	\$ 45,188,967	83,389,232	\$ 0.3252	-\$	27,116,126	\$ (18,072,841)	S	(1,425,732)
SCE	\$ 7,193,729	84,358,000	\$ 0.3252	\$	27,431,146	\$ 20,237,417	\$	36,884,525
SDG&E	\$ 10,423,518	19,404,874	\$ 0.3252	\$	6,309,987	\$ (4,113,531)	\$	48,247
Anaheim	\$ -	2,589,830	\$ 0.3252	\$	842,149	\$ 842,149	S	(15,253,310)
Azusa	\$ -	239,575	\$ 0.3252	\$	77,904	\$ 77,904	\$	(755,717)
Banning	\$ -	139,457	\$ 0.3252	\$	45,348	\$ 45,348	\$	(607,191)
Riverside	\$ -	1,814,019	\$ 0.3252	\$	589,874	\$ 589,874	\$	(12,118,807)
Vernon	\$ -	1,210,668	\$ 0.3252	\$	393,679	\$ 393,679	\$	(6,772,014)
Total	\$ 62,806,214	193,145,655		\$	62,806,214	\$ (0)	\$	0

1 January 2004 ISO Access Charge Rate

		HIGH VOLT	AGE AND LOW	VOLTAGE COM	PONENTS		F.	Info Only
PTO		HV TRR	LV TRR	New HV Facilities	New LV Facilities	Total HV Filed TRR	Total LV Filed TRR	Combined TRR
	Base TRR (T07)	175,953,634	280,755,071	61,280,933		237,234,568	280,755,071	517,989,638
	TRBAA (as of 30Sep03)	(29,036,584)	(35,635,155)	(15,703,915)		(44,740,499)	(35,635,155)	(80,375,654)
	Standby Credit	(717,371)	(1,123,252)			(1,105,423)	(1,123,252)	(2,228,675)
	Total	146,199,679 I	243,996,663	45,188,967		191,388,646	243,996,663	435,385,309
PGE	Gross Load	83,389,232	83,389,232	83,389,232		83,389,232	83,389,232	83,389,232
	Utility Specific Access							
	Charges (\$/kWh)	1.7532	2.9260	0.5419		2.2951	2.9260	5.2211
	Effective Date	1-Jan-04 E		1-Jan-04 E				
\vdash	Docket #	1-Jan-04 E		1-Jan-04 E	R04-??			054 000 000
	Base TRR	213,079,025	29,065,800	8,855,175		221,934,200	29,065,800	251,000,000
	TRBAA (as of 30Sep03)	(38,907,501)	(1,061,600)	, ,		(40,524,426)	(1,061,600)	(41,586,026)
	Standby Credit	(1,071,298)	(134,259)	(44,521)		(1,115,819)	(134,259)	(1,250,078)
	Total	173,100,226	27,869,941	7,193,729	-	180,293,955	27,869,941	208,163,896
SCE	Gross Load	84,358,000	84,358,000	84,358,000		84,358,000	84,358,000	84,358,000
	Utility Specific Access	ļ						
	Charges (\$/kWh)	2.0520	0.3304	0.0853		2.1372	0.3304	2.4676
	Effective Date	1-Sep-02 E		1-Sep-02 E			j .	
<u> </u>	Docket #	1-Jan-04		1-Jan-04			La	405 010 000
	Base TRR	53,195,000	53,750,000	10,799,000	17,899,000	63,994,000	71,649,000	135,643,000
	TRBAA (as of 30Sep03)	(17,102,713)	(3,827,323)	, , ,	(110,153)	(17,428,944)	(3,937,476)	(21,366,420)
1	Standby Credit	(240,756)	(243,303)		(80,690)	(290,007)	(323,993)	(614,000)
l	Total	35,851,531	49,679,374	10,423,518	17,708,157	46,275,049	67,387,531	113,662,580
SDGE	Gross Load	19,404,874	19,404,874	19,404,874	19,404,874	19,404,874	19,404,874	19,404,874
	Utility Specific Access							
	Charges (\$/kWh)	1.8476	2.5601	0.5372	0.9126	2.3847	3.4727	5.8574
	Effective Date	1-Oct-03 E		1-Oct-03 E				
\vdash	Docket #	1-Jan-04	ER04-??	1-Jan-04	ER04-??	10.010.170		40.040.000
	Base TRR	10,216,178				10,216,178		10,216,178
	TRBAA (as of 30Sep03)	(225,814)	'			(225,814)	1:	(225,814)
	Standby Credit Total	9,990,364				- 9,990,364		9,990,364
Vernon	Gross Load	1,210,668				1,210,668		1,210,668
	Utility Specific Access							
	Charges (\$/kWh)	8.2519				8.2519		8.2519
1	Effective Date	1/1/2003 E 1/1/2004 E						
<u></u>	Docket #							

1 January 2004 ISO Access Charge Rate

				VOLTAGE COM			<u> </u>	Info Only
PTO		HV TRR	LV TRR	New HV Facilities	New LV Facilities	Total HV Filed TRR	Total LV Filed TRR	Combined TRR
┢	Base TRR	22,900,000				22,900,000		22,900,000
1	TRBAA (as of 30Sep03)	(762,079)				(762,079)		(762,079)
	Standby Credit	-				-		
_	Total	22,137,921				22,137,921	Į.	22,137,921
ΙĒ								
Anaheim	Gross Load	2,589,830				2,589,830		2,589,830
Ā	ì							
] `	Utility Specific Access							
	Charges (\$/kWh)	8.5480				8.5480		8.5480
	Effective Date	1/1/2003 E						
L	Docket #	1/1/2004 E	L04-40					
_	Base TRR	1,500,000				1,500,000		1,500,000
	TRBAA (as of 30Sep03)	(107,415)				(107,415)	:	(107,415)
1	Standby Credit	-			ľ	-		
	Total	1,392,585				1,392,585		1,392,585
Sa	_		ļ		ļ			
Azusa	Gross Load	239,575	ĺ			239,575		239,575
٩								
١	Utility Specific Access							
	Charges (\$/kWh)	5.8127				5.8127		5.8127
	Effective Date	1/1/2003 E	1					
L	Docket #	1/1/2004 E				1 105 000	50.047	4 450 047
	Base TRR	1,105,000	53,647			1,105,000	53,647	1,158,647
1	TRBAA (as of 30Sep03)	(127,086)	-			(127,086)	- <u> </u>	(127,086)
	Standby Credit	-	50.047			077.044	50 047	4 004 504
6	Total	977,914	53,647		l	977,914	53,647	1,031,561
Banning		400.457	420.457			420.457	120 457	120 457
l i	Gross Load	139,457	139,457			139,457	139,457	139,457
m	Utility Specific Access							
	Charges (\$/kWh)	7.0400	0.0047			7.0402	0 2047	7 2070
ĺ	Effective Date	7.0123	0.3847			7.0123	0.3847	7,3970
	Docket #	1/1/2003 E 1/1/2004 E						
\vdash	Base TRR	17,500,000	LU4-11			17,500,000		17,500,000
	TRBAA (as of 30Sep03)	(558,940)		·		(558,940)		(558,940)
	Standby Credit	(330,340)				(330,940)		(550,540)
Ì	Total	16,941,060				16,941,060		16,941,060
g	lotal	10,041,000				10,041,000		10,041,000
Riverside	Gross Load	1,814,019				1,814,019	ı	1,814,019
<u> 8</u>	5.500 2544	1,011,010				1,511,515		
12	Utility Specific Access			1				
	Charges (\$/kWh)	9.3390				9.3390		9.3390
	Effective Date	1/1/2003 E	L03-20					
ĺ	Docket#	1/1/2004 E						
				For Information	n Only			
1	Base TRR	495,448,837	363,624,518	80,935,108	17,899,000	576,383,946	381,523,518	957,907,463
Grid	TRBAA (as of 30Sep03)	(86,828,132)	(40,524,078)	(17,647,071)	(110,153)	(104,475,203)	(40,634,231)	(145,109,434)
اق	Standby Credit	(2,029,425)	(1,500,814)	(481,823)	(80,690)	(2,511,249)	(1,581,504)	(4,092,753)
S	Total	406,591,280	321,599,625	62,806,214	17,708,157	469,397,494	339,307,782	808,705,276
Total CAISO								
12	Gross Load	193,145,655	187,291,563	187,152,106	19,404,874	193,145,655	187,291,563	193,145,655
[등								
-	Utility Specific Access						ja Ja	
	Charges (\$/kWh)	2.1051	1.7171	0.3356	0.9126	2.4303	1.8117	4.1870
<u></u>								

ATTACHMENT B

NOTICE SUITABLE FOR PUBLICATION IN THE FEDERAL REGISTER

UNITED STATES OF AMERICA BEFORE THE FEDERAL ENERGY REGULATORY COMMISSION

California Independent System Operator Corporation)	Docket No. ER04	001
	Notice of	Filing	
Ţ		1	

Take notice that, on January 5, 2004, the California Independent System Operator Corporation ("ISO") submitted an errata filing to the informational filing it made on December 31, 2003 to the ISO's updated transmission Access Charge rates effective as of January 1, 2004.

The ISO states that this filing has been served upon the Public Utilities Commission of the State of California, the California Energy Commission, the California Electricity Oversight Board, the Participating Transmission Owners, and upon all parties with effective Scheduling Coordinator Service Agreements under the ISO Tariff. In addition, the ISO is posting the filing on the ISO Home Page.

Any person desiring to be heard or to protest the filing should file a motion to intervene or protest with the Federal Energy Regulatory Commission, 888 First Street, N.E., Washington, D.C. 20426, in accordance with Rules 211 and 214 of the Commission's Rules of Practice and Procedure (18 C.F.R. §§ 385.211 and 385.214). All such motions or protests must be filed in accordance with § 35.9 of the Protests will be considered by the Commission in Commission's regulations. determining the appropriate action to be taken, but will not serve to make protestants parties to the proceeding. Any person wishing to become a party must file a motion to intervene. Copies of this filing are on file with the Commission and are available for public inspection in the Public Reference Room. Copies of this fling also may be viewed on the Commission's web site at http://www.ferc.gov, using the eLibrary (FERRIS) link. Enter the docket number excluding the last three digits in the docket number field to access the document. For assistance, please contact FERC Online Support at FERCOnlineSupport@ferc.gov or toll-free at (866)208-3676, or for TTY, contact (202)502-8659. Protests and interventions may be filed electronically via the Internet in lieu of paper; see 18 CFR 385.2001(a)(1)(iii) and the instructions on the Commission's web site under the "e-Filing" link. The Commission strongly encourages electronic filings.

Comment	Data:
Comment	Date.